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x = x0 + t · vx
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z = z0 + t · vz

K · t2 + L · t + M = 0
A posiIve real  
soluIon exists 

Two complex  
soluIons 

Two real negaIve  
soluIon 

Pick smallest posiIve value 
to find intersecIon  

Does not intersect  Does not intersect 
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p = p0 + t · v

pQpT + PpT + R = 0
3× 3 1× 3 1× 1

(p0 + tv)Q(p0 + tv)T + P (p0 + tv)T + R = 0
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•  If you use general quadric for sphere 

– What do you need to define? 

– Q, P, R 

pQpT + PpT + R = 0

Q =




1 0 0
0 1 0
0 0 1





P =
[

0 0 0
]

R = −r2
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Global IlluminaIon 
What you get with ray tracing  What you get with tracing secondary rays 

* ‘Distributed ray tracing’ in your assignment  
suggests using Phong Shading to calculate final  
radiance – this will not look as nice 
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3.4 

3.2 
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ORDER: 3.3, 3.4, 3.2, 2 

If a ray intersected something in 3.3,  
can it intersect something (with a smaller t) 
in a later node? 

Think about objects on boundaries. 

Example: should intersect the circle,  
but the triangle is visited first 



The End 

QuesIons? 


